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KING FAHD UNIVERSITY OF PETROLEUM AND MINERALS
DEPARTMENT OF MATHEMATICS AND STATISTICS

S121

MATH 201
MAJOR(EXAM II
Thursday, November 22 , 2012
Time: 5:30 PM - 7:30 PM

Location: Bldg 54 K

NAME: ..., Do, ; .................. SECTION

Instructions: Formula sheets, calculators and mobiles
are not allowed.

JUSTIFY ALL YOURS ANSWERS

Question # 1 2 3 4 5 6 7 8

Total

Points 10 11 11 15 14 14 11 14

100
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Exercise #1:(10 pts) Find the distance from the point D(1,1,—-3) to
the plane containing the points A(1,0, —2), B(0,-1,2), C(1,1,1).
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Exercise #2:(11 pts) Find the area of the triangle whose vertices are

s

P(1,3,2), Q(4,8,1) and R(2,2,3).
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Exercise #3:(11 pts) Find an equation of the ellipsoid whose center is
at (1,1,1) and which passes through the points (0,0,1),(1,1,v/5 + 1) and
(1,0,3).
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Exercise #4:(15 pts) Consider the function

Flz,y,2) = /1 — 22 —y2 — 22In(z — 2% — *)
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(b) Identify and sketch the dornain of f.
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Exercise #6:(14 pts)
(a) Show that f(z,y) = ++, Is differentiable at the point (2,1).
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(b) Find the linearization L({Ly, z) of f(z,y,2) = tan"!(zyz) at the point
(1,1,1).
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Exercise #5:(14 pts) Find the following limits if they exist,
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Exercise #7:(11 pts) The temperature of a body at a point (z,y, 2) is
given by
T = e% — zy® — 22yz2.

Determine the direction of the greatest drop in the temperature at the
point (1, —1,2).
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Exercise #8 (14 pts) Identify the following surfaces and sketch each one

in 3D-space,
(a) 2® + 4y + 922 =0
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